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If|Z+Z|+|Z—Z| =2, then Z lies in
(a) a square (b) a circle
(c) a straight line  (d) None of these

9. The following chart shows ,the-. percentage
distribution of students of a university in different
subjects. Total number of (students registered is
1056.

The areca of the greatest rectangle that can be

PERCENTAGE 'OF STUDENTS IN
DIFFERENT SUBJECTS IN THE
UNIVERSITY

2
v .
ﬁ—l,ls

(c) 2ab (d) ab

2
inscribed in the ellipse Z—Z +
(a) 3ab (b) 4ab

Engineering

2w :
The value of [, cos® x dx is :

(@0 (b) 99 (c)—1

Physics

(d) 1 24%

Management
12%

Economics
If f(x) = sm-l( 2x ) then f(x) is| differentiable

1+x2

on:
(a) None of these
(c) [-1,1]

(b) R —{1,-1}
(DR-(-1,1)

If a quadratic curve y,=f(x) , tonches the line
y = x at the point (--1,0 ), then equation of the
quadratic curve is\;:

— 52 N
@y=x*+2x+1 (b)y—4+2+4

%t w1
©y=3+373

The slopes of tangents drawn from a point (4, 10) to

the parabola y? = 9x are:

11
(a) 3

4 9
(C) Z’Z

13
b G
(d) None of these

A train is moving with a-speed of 180 km/hr. It is
same as

(a) 5 m/sec
(c) 40 m/sec

(b) 50 m/sec
(d) 30 m/sec

A man can row upstream at 6 km/hr and downstream
at 10 km/hr. Find speed of stream:

(a) 1 km/hr (b) 2 km/hr

(c) 3 km/hr (d) 4 km/hr

Computer

18%
Commerce

22%

Total »number of students registered in finance
related subjects?
(a) 1968

(c) 576

(b) 2448
(d) 2500

2x 1 3x+9

=3 T 2213 2x+3)(x=3)

then value of x is :
(@1 (b) -2 (c)2 (d)-1
. The trends in Production and Productivity of Rice

CIf

0,(x #£3,x % —g)

for 6 years are given by following charts.

Production Yield

(Million bags of 60 kg (kg per hectare)
each)

7N N
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Average rice production (in kg) during the six years
was?

(a) 706000000
(c) 607000000

(b) 670000000
(d) 760000000

. An integrating factor of the differential equation

dy _ 1y .
dx+y— " ,(x>0)is:

X

(d) =

e

(a) xe™ (b) e* © %

If f(x) = 2%, then £(0),f(1),f(2), are in :
(a) Arithmatico Geometrico Progression

(b) AP

(c) H.P.

(d) G.p.

. Let f(x) =|x—1]|, then:
(a) f(x®) = {f ()}
®) fUxD = [f ()]
©fx+y)=f)+f)
(d) None of these

. Three dice are thrown , the probability that the same
number will appear on each of them is :

@5 (b) 3¢
(©) % (d) Nong of'these

. REASON : SFBTPO :: THINK : ?,
(2) UUOL (b) UIKPM
(¢) UHNKI (d) SGHMJ

-, 1 are in A:P. then :

b+c’c+a’a+b
(a) %,%,%are in AP, (b) a?,b%, c*are'in A.P.
(d) None of these

(¢) a, b, crare in ALP.

.If a;b,¢,d are in G.P. and a* = bY = c¢Z =d¥ ,
then x, y,z,u are in :
(a) A.P.

(c) G.P.

(b) None of these
(d) H.P.

. Ifﬁ_ﬁ = %,x # 3 and x # —5, then the value
of x is :
@7;-9

(©)-11:9

(b)11;-9
d-7;8
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20. Let R is a relation from {11,12,13} to {8,10,12}
defined by y = x — 3, then R™1 :
(a) {(10,13), (8,11)} (b) {(11,8), (13,10)}
(c) None of these (d) {(8,11),(10,13)}

. Three numbers are chosen from 1 to 30. The
probability that they are not consecutive is :

142
(a) None of these (b) e
143

© 10 (d) o

. Which one is better offer :
Threg successive discounts of 10%, 10% and 30%
ot three successive discounts of 40%, 5% and 5% ?
(a) First offer is better -, (b) Second offer is better
(¢) Insufficientinformation
(d) Both are similar

. The value
xlogy—logz X ylogz—logy X Zlogx—logy x is
(@1
®)xyz
(©0

(d) (x + yl+ Z)logx+logy+10gz

1 1th
floor of a building and rides up at the rate of 57 floors

per minute. At the same time, Albert gets on the
1th

. David _gets on the -eclevator at the

elevator at the 51" floor of the same building and
rides down at the rate of 63 floors per minute. If they
continue travelling at these rates, then at which floor
will their paths cross ?
(a) 37 (b) 30

() 19 (d) 28

. The value of 2271093 i -

@7 ()3 ©3 3

. The equation of the circle passing through the origin
which cuts off intercepts of length 6 and 8 from the
x and y-axes respectively, is :
@x?*+y?2—6x—8y=0
b)x?+y?—6x+16y=0
©x2+y*+6x—12y =0
(dx?+y?+12x+16y =0
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27. Find the value of k so that the equations 2x2 +
kx —5 =0 and x? — 3x — 4 = 0 have one root in
common: 1 : 4. The ratio of their volumes is :

(a) % (b) _% ©) _% () % (a) 1:4 (b) 1:6 ‘ (c) 1:2 ‘ ‘ (d)1:8
. The volume of spherical balloon is increasing at the

33. The surface areas of two spheres are in the ratio

. . ) 101 1 ] rate of 20 cm3 /sec . The rate of change of its surface
- Thie sides of 3 triangle: are inthe matio 5, ¢ < @nd 1S area at the instant when its radius is 8 cm, is given

perimeter is 94cm. The length of the smallest side is:
(a)31.3cm (b) 23.5cm
(c) 24cm (d) 18.8cm

. If A and B are two fixed points, then the locus of a
point which moves in such a way that the angle APB

by :
(a) 5 cm?/sec (b) 8m cm? /sec

(©) 8?71 cm? [sec (d) 8 cm?/sec

. The line g + % = 1 touches the curve y = be ¥/ at

is aright angle is : the point

(b) a parabola (a) (a, %)

(d) an ellipse b
(C) (aﬁ E)

(a) a hyperbola
(c) acircle

(b) None ofthese
@ (-a.3)

. If Alis any of square/ matrix of order n, then
A(adj A)is equal to
(a) JA|I, (b) |AI™
(01 (d) A"

If f(x) =[x] and g(x) =|x| , then value, of
5

(9o (=3 )~ (Fog) (~3 ) is:
()3 (b)1 ©0 @2

. The sum of first three terms of a GP is 16 and the
sum of next three term 1s 128. Then first term of the
GP is

30 16
()8 (b) 16 ©) (d)~

. Which of/ the following relations on R is an
equivalence relation?
(@ xRzy < x/y
(¢) None of these

(b) xRy = [x|/yl

DxRyex=y

. The following ‘chart> shows the <percentage
distribution of students of a university in different
subjects. Total number of students registered is
1056.

» Select a suitable figure from the four alternatives that
would complete the figure matrix.

A7
PERCENTAGE OF STUDENTS IN g&i%
ik

DIFFERENT SUBJECTS IN THE 1/‘/

UNIVERSITY

Rl 77 Ao
/1T
A B CD
Engineering

Physics (a) A (b) B (C) D (d) C
24% Management
12%

. 8 Women can complete a work in 10 days and 10

EConomics
7%

children take 16 days to complete the same work.
How many days will 10 women and 12 children take
i to complete the work?
Commerce

2% (a)7 (b)5 ()8 (6

) . . The number of straight lines can be formed out of
The number of excess enrollment in physics as . . .
10 points of which 7 are collinear :

(a) None of these (b) 21
(c) 26 (d) 25

compared to commerce is
(a) 90 (b) 86
(c) 96 (d) 69
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(b) LLMA (d) OLPA

.In the binomial expansion of (14 x)", the 49. If w is a cube root of unity and w #1, then value of
coefficient of the fifth, sixth and seventh term are in 1 w w?
AP, then the value of n is: w o 1
(2) 6,3 (b) 6,9 w 1 w
(©) 7, 14 3,7 (@)1

©0
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is equal to :

(b)2

(d)-1
. The square root of the complex number (5 + 2i) e
is - . The modulus of the complex number (—l
2-51

(a) £(3 +20) (®) £(9 + 20) is:

(c) £(9 + 4i) (d+B+10) ( )i
T

ONE)
‘a’ and ‘b’ are :

(@a=-2b=-5 8 Ifz=%thenpolarformofzis:
(b) a= 4’b — 23 COS;+lSln§

ca=-4b=1

(da=-3,b=2

3-2i
* ﬁ)
242
Ok

2
IfA= E i and A2 + aA + bl = 0, then values of (d) <

1 N O S
(a) = (cos 5 hisin 5)

3m . . 3w
(b) V2 (cos ~ tisin T)
1 3 ; x  BT%
(c) > (cos - tisin T)

. The value off04 |x% — 4|dx, is :
@2 (cosi—: +isin i—;)

(@8 DE
(c) 16 OF | . . .
3 . Find out the alternative figure which contains figure

) ’ ) (X) as its part:
. The center of circle passing through the points (0,0),

(1,0) and touching the circle x% + y%.= 9 is;
@ G5 (b)G.2)
© G3) d) G, —v2)

b+c a—b a
. The value of [c +a b —c b|is:
a+b c—a c
(a)a®? + b2 ¥c?—ab— bc — ca
o0
(c) a® + b3+ c3>—abc

. The smallest value of x satisfying the inequality
19Ce1 > 2. °Cxis:
(a) 10
(©8

(b) 7
)9

(d) 3abc —a®*— b3 — 3

CIf a¥ = b?*73, then value of x is (a>0,b >
Oanda,b €R):

b3
@2 (b)

(C) logb

3logb
2logb—-loga

aZ
logb—-2loga (d) b3
. Fill in the blanks :
ELFA, GLHA, ILJA,
(a) KLMA (b) KLLA

. Two buses tickets from city A to B and three tickets

from city A to C cost Rs.77 but three tickets from
city A to B and two tickets from city A to C cost
Rs.73. What are the fares for cities B and C from A?
(a) Rs 17 , Rs13

(b)Rs4,Rs 23

(c)Rs 13 ,Rs 17

(d)Rs15,Rs 14
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55. The trends in Production and Productivity of Rice 8, 11,21, 15,18, 21,22,
for 6 years are given by following charts. (a) 25, 18 (b) 24,21
(c) 25,21 (d) 25, 29

Production Yield
(Million bags of 60 kg
each)

. 250 bananas were divided equally among a certain
number of students. If there were 25 more students

N \ each would have received half banana less. The

i number of students is :

(a) 100 (b) 120

(c) 150 (d) 125

(kg per hectare)

Cfy = \/logx + \/logx A A flogx+.... o, then%is
equal to :

1
The approximate decrease percentage in rice @) x(2y-1)
cultivation area from the year 2007-08 to 2008-09 (©) x(y1+1)
was

(a) 4% (b) 8%

(c) 9% (d) 2%

1
x(y=1)

1
x(2y+1)

(®)
(d)
. Window is to pane as bookis to<

(a) Glass (b) Page
(c) Cover (d) Novel

. If z; and z, are two n" roots of unity, then arg C—l)
2

is a multiple of : 1+x
(a) nm (b) %ﬂ . Ifx,y, zarenon-zeroand | 1

1

(c) None of these (d) 3.;” 0 thenx™ +y~ 1+ z71is equal to :
1

(a) xyz (®) ——

xyz
. Iflog, x + logy x +logg x = %, then value of x is : (c) -1 Dx+y+z
(a) 4 (b)1
(c)2 (A8 . The only root of the equation
9logs(log, x) =log, x — (log, x)? + 1is :
. ZRYQ: KCIB : PWOV : 2 (@x=4 b)x=2
(a) GBHA (b) EOFP @x=1 (dx=3
(c) ELDK (d) ISIT
. ForthesetA ={1,2,3},Risarelation on the set A
. The/point on the curve y =3 =11x + 5 at which as R ={(1,1), (2,2), (3,3), (1,3)} to make it the
the tangent has the equation'\y = x — 11, is given smallest equivalence relation the ordered pairs to be
by: added is :
() (4,-7) (b) (3,-8) @G, () (3,2),2,3),3, 1)
(c) (—2,-13) ) (2,-9) (©)(3,2),2,3) (d)3,2)

. 37% of 150 — 0.05% of 100 =? fa+ib = Z—j, a,b,c € R, then value of a® + b? is
(a) 55.45 (b) 55.5 equal to :
(c) 55.55 (d) 50 (a)3 (b)2

(©1 o
. What is the next two numbers of the following
sequence ?
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@ (53) ®(33)

69. The pt", qt" and r*" terms of an AP. as well as
those of a G.P. are a, b, ¢ respectively. The value os

al=¢ x b= x ¢ P is equal to :
(@)1 ()0
(0) -1 (d)2

. The cost price of 4 things be equal to the sale price
of 3 things, then profit percent is:

©(33) () (0,0)

. If both the roots of the equation ax? + bx + ¢ = 0

are zero, then :
@b=0,c#0
(b)b,c=0

©)b+0,c+0
(db+0,c=0

(a) 33 g% (b) 40%

1
c) 25% d) 37-%
(c)25% () 375% . The derivative of sec™? (
1.
. If the centre of the ellipse is (0,0), major axis is y- V1—<x%atx = —5is
axis and it is passing through the points (3, 2) and (1, (a)—=2 (b)-1
6), then equation of the ellipse is : (c) 2 (d) 4

xZ yZ _
() 100 + 320 1

! .
2x2_1) with respect to

m g DIf £: R, SP56and f(x) = 9x°Dp% — 5, f is
)Gt =1 invertible, then f~1(y) is equal to

@ o= - (25
®) ) = (22)
© f1) =22

@ 1o = ()

xZ y2_
(0)84_10_1

xZ 2
D +==1
. The inequality | 2x — 3 | < 14svalidwhen x lies in
the interval :
(a) (-4, 3) ()3, 4)
(0 [-1, 2] (d)[1, 2]
. The trends in Production and Productivity of Rice
for 6 years are given by following charts:

~In"1 minute ; of a bucket is filled. The rest of the

buckets can be filled in :

Production Yield
(Million bags of 60 kg (kg per hectare) 7
each) (¢ 3 minutes

A N
i . If A+B means A is brother of B; A-B means A is the
sister of B and AXB means A is father of B. Which
of the following means that C is the son of M?

(a) N+M-FxC (b) M-NXC+F

(c) F-C+NxM (d) MXN-C+F

4 . 1.
(a) 3 minutes (b) 3 minutes

(d) 2 minutes

. Rahul put his timepiece on the table in such a way
that at 6 P.M. hour hand points to North. In which
direction the minute hand will point at 9.15 P.M.?
(a) North (b) South
(c) West (d) South — East

Cultivated area (in hectares) of rice in year 2008-09
was:

(a) 626087
(c) 626078

(b) 626015

(d) 626080
0 2:12::5:7

(a) 35 (b) 25

. The orthocenter of the triangle formed by the lines
(c) 30 (d) 15

xy=0andx+y=1is:
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82. The following chart shows the percentage
distribution of students of a university in different
subjects. Total number of students registered is
1056.

PERCENTAGE OF STUDENTS IN
DIFFERENT SUBJECTS IN THE
UNIVERSITY

Engineering

Physics
24%

Management
12%

Economics
7%

Computer

18%
Commerce

22%

Let sex ratio of enrolled students 1 : 2 (Female
Male). Number of beds available in university
hostel for male and female is equal and no female
resides outside the hostel, what percent of
enrolled students residing outside the hostel?

(a) 30% (b) 33%

(c) 55% (d) 50%

83. Out of 40 consecutiveintegers, two are chosen’ at
random, the probability that their sum is 0dd;.is:

14 1
(@) o5 (b) 3
(c) None of these @ %

. The following chart shows the percentage
distribution of students of a university in\different
subjects. Total number of students (registered is
1056.

PERCENTAGE OF STUDENTS IN
DIFFERENT SUBJECTS IN THE
UNIVERSITY

Engineering
9%
Physics
0,
24% Management

12%

conomics
7%

Computer

18%
Commerce

22%

Which of the following sequence shows the
increasing order of subjects according to number
of enrollments?

(a) Economics, Commerce, Physics, Computer,
Arts

(b) Arts, Physics, Economics, Management

(c) Economics, engineering, Computer, Physics
(d) Physics, Computer, Engineering, Economics

. If the roots of the equation x — px 4+q = 0 differ

by unity, then

() p* = 4q
(c) Nong of these

b)p?=4q +1
@p*=4q-1

If x% =kxy + y2 +2y+ 2 = 0 denotés a pair of

straight lines, then k =

1
@5 (b) 2
(c) 22 (d)v2

/LetR = {(a,a), (b, b),(¢,c), (a,b)} be arelation on

setA = {a, b, ¢} then R is:
(a) Reflexive
(c) Antisymmetric

(b) Symmetric
(d) Identity Relation

. A man tunning a race-course, note that the sum of

the distances from two flag posts from his is always
10-unit and distance between the flag post is 8 unit.
The equation of path traced by the man is :

x2 y2 x2 yZ
(a)2—5+E=1 (b)2—5+?=1

xZ yZ

_ Xy
©5-5=1 Dx-%=1

. How many three-digit numbers are divisible by 7?

(a) 126 (b) 125
(c) 127 (d) 128

. Find the number of triangles in the given figure :

(a) 10 (b) 14 (c) 12 (d)s8
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91. Sanjana’s brother — in — law is the son of Ramya.
How is Sanjana’s husband related to Ramya’s
husband if Sanjana had no siblings?

(a) Son —in — law (b) Father — in — law
(c) Nephew (d) Son

If the roots of the equation
(b—c)x*+(c—a)x+(a—b)=0 Lare equal
then 'b’ is

@ (%)
(¢)2(a—0)

) 5
(d) (a+o)

. If the system of equations
x+4ay+az=0
x+3by+bz=0
x+2cy+cz=0
have a non-zero solution, then a, b, c(# 0) are in :
(a) GP
(b) AP
(¢) a, b, ¢ are not in any sequence
(d) HP

. In how many years, a sim will be thrice of it at the
rate of 10% per annum?
(a) 20 years
(c) 30 years

(b) 15 years
(d) 40 years

. The angle between the lines 2x? —7xy + 3y? = 0,
is:

(a) tan™?! (E)
(c) 45°

(b) 30°
(d) 60°

. LetA ={1,2,3}and R = {(1,2), (2,3)5(1,3)} be a
relation on A then R 1s :
(a) Transitive
(b) Neither symmetric nor transitive
(¢) Neither reflexive nor transitive
(d) None of the three

. Which of the following function is inverse of itself:

(a) f(x) = 5'°8*
(b) f(x) = 27D

(©) f(x) ===

1+x
(d) None of the three

ASPIRE STUDY KANPUR
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98. The trends in Production and Productivity of Rice
for 6 years are given by following charts.

Production Yield

(Million bags of 60 kg (kg per hectare)
each)

A N

In which year highest increase in productivity was
observed as compared to its previous year?

(a) 2006=07 (b).2007~ 08

(c) 2004 — 05 (@)2005— 06

99. What day of the week was 18" April 1901?
(a) Wednesday (b) Thursday
(c) Monday (d) Tuesday

100. If 4 — digit numbers be formed using the digits
1,2{3,4 and 5, such that no digit is used more
than once is a number, then the number of such
even numbers is:

(a) 120 (b) 24
(c) 60 (d) 48

The set of solution of an inequality |x + %| > %’
1s:
() x € (=2,0)
3
b xe(-23)
(©x € (-0,2) U (3,00)
(@ x € (=00,~2) U (3,00 )

The eccentric angle of a point on the ellipse

2 2
% + y? = 1, whose distance from the center of

the ellipse is 2, is
7T 3m
(@) (b~

51 T
©) = D
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103. If a is an n*" root of unity, then 112. The difference between compound interest and
14 2a+3a?+ -+ na™ ! equals : simple interest on Rs.8,000 at 5%
(a) ' L} (b) L (a) Rs. 62 (b) Rs. 61
1-a 1-a

- Rs. 60 d) Rs. 50
(c) None of these d (1_—2)2 () Rs (d) Rs

The price of an article is reduced by 25%. In
The area bounded by the straight lines y = a order to retain the original price, the present
and +2x +y =2, 1s price has to be increased by:
(a) 1 sq. units (b) 2 sq. units (a) 50% (b) 333 %

1 . 3 .
© > Sq. units (d) > Sq. units () 25% (d) 20%

1 sin @ 1
Let A =|—sin® 1 sin @ |, where
-1 —sin@ 1 real is:
0 < 0 < 2m, then value of |A] is (a)2 (b) 6
(a) |4] € [2, ) ()8 (d) 4
(b) 14] € [2,4]
©lal=0 . Arrange the words given below in-a meaningful
do<]|Al <4 sequence .
1. Presentation
1-iv3 - il; Recommendation
. el 1i1. Arrival
T 4T . 5 .
(@~ (b) iv. Discussion
©) g () 2?” v. Introduction
(@), &%, i (b) v, i, i, ii, iy
(¢) it 1, 1v, 11 (d) v, 111, 1v, 1, 1i

i\
The least positive integer n for which (%) is

The argument of

If a, b, c arc in AP as'well as'in GP, then
(@a=»b#Cc b)ya+b=*#c

&g h=2 (d) @ LR The equation of lines passing through the

intersection of lines 4x —3y—1=0 and
2x —5y+3 =0 and equally inclined to the
axes, are:

(a) 24 (b) 32 @x=y;x+y—2=0

(c) 16 (d)40 b)x+y—3=0;2x+3y=0
C©)x+y+3=0x=y
Dx+y+3=0x=y

Determine b satistyinglog g b =3 é:

x-1

The interval inywhich the function y = ————

transform the real line is:
TN’ D) ‘ lcomil;te 5logs 6logg 7 log, 8logg 9
1 08341084 0 1085 bloge /1087 o l0gg

0,1 d)|—=,1

©10,1] @ [-31] o1 T 4

(c)3 (d)2

Look at this series : 1.5, 2.3, 3.1, 3.9, ... what

number should come next ? . A table is bought for Rs.950 and sold at

(a)4.2 (b) 4.4 Rs.1140. Find the gain percentage:

(c) 4.7 (ds.1 (a) 30% (b) 10%

(c) 25% (d) 20%
2 2
Ifx* +4y* = 4xy,thenx:y =

(@l:1 b)1:4
©2:1 d1:2
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3x+x3

1+3x2 then

119. Given f(x) = log GTD and g(x) =

fog(x) equals:
(@) —fx) (b) None of these

© {fF (d) 3f(x)

. On selling an article for Rs. 48, one loses 20%.
In order to gain 20% what would be the selling
price?

(a) Rs.78 (b) Rs.76
(c)Rs. 74 (d) Rs.72
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Answer Key

] i o

alalw|aE =)o > > oo |w|@|a|o|m|o

>|o|o|alo|o|w|a|w|o|o|a)> o> o> =
ol bl e
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